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8VDKD�0LNUR�.HFLO�GDQ�0HQHQJDK��80.0��PHPLOLNL�SHUDQ�SHQWLQJ�GDODP�SHUNRQRPLDQ�

GL� ,QGRQHVLD�� 6HEDJDL� FRQWRK�80.0�PHQ\XPEDQJ� VHEHVDU� ����3'%�GL� QHJDUD� LQL��0HQXUXW�

%DGDQ� 3XVDW� 6WDWLVWLN�� MXPODK� 80.0� GL� ,QGRQHVLD� WHUXV� PHQLQJNDW� QDPXQ� MLND� GLOLKDW� GDUL�

SHUWXPEXKDQQ\D�QLODLQ\D�PHQXUXQ� 0HQXUXW�3UHVLGHQ� ,QGRQHVLD�0DUNHWLQJ�$VVRFLDWLRQ� �,0$��

PDVDODK� XWDPD� \DQJ� GLKDGDSL� XQWXN� PHQMDGL� 80.0� \DQJ� PDQGLUL� GDQ� PDMX� DGDODK� IDNWRU�

SHQJHWDKXDQ� EHUELVQLV�� 3HQJHWDKXDQ� EHUELVQLV� WHUVHEXW� GDSDW� GLXNXU� VHEDJDL� WLQJNDW� OLWHUDVL�

NHXDQJDQ� XQWXN� SDUD� SHODNX� 80.0� 0HQXUXW� 2-.�� OLWHUDVL� NHXDQJDQ� PHUXSDNDQ� VHEXDK

SHQJHWDKXDQ�� NHWHUDPSLODQ�� GDQ� NH\DNLQDQ�� \DQJ� PHPSHQJDUXKL� VLNDS� GDQ� SHULODNX� XQWXN�

PHQLQJNDWNDQ� NXDOLWDV� SHQJDPELODQ� NHSXWXVDQ� GDQ� SHQJHORODDQ� NHXDQJDQ� GDODP� UDQJND�

PHQFDSDL� NHVHMDKWHUDDQ�� 3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHOLKDW� SHQJDUXK� OLWHUDVL� NHXDQJDQ�

WHUKDGDS�NLQHUMD�80.0�\DQJ�EHUIRNXV�GL�GDHUDK�-DERGHWDEHN��0HWRGH�\DQJ�GLJXQDNDQ�DGDODK�

PHWRGH� UHJUHVL� OLQLHU� EHUJDQGD� GHQJDQ� PHQJJXQDNDQ� WHNQLN� VXUYHL� GDODP� EHQWXN� NXHVLRQHU��

+DVLO� \DQJ� GLGDSDW� DGDODK� WHUGDSDW� SHQJDUXK� SRVLWLI� SDGD� OLWHUDVL� NHXDQJDQ� WHUKDGDS� NLQHUMD�

80.0�GL�-DERGHWDEHN�


